MOYEMY HAC:

15 YEARS
EXPERIENCE

We have been manufacturing
railing hardwares since 2004.

WHY CHOOSE US

ONE STOP
SERVICE

We provide integrated railing solutions.
We manufacture.

We deliver.

RD |¢

PROFESSIONAL TOP QUALITY

R&D TEAM & GOOD PRICE

We have engineering We are strict on quality control
experts for developing as well as cost evaluation.
new products.

ABOUT US

Shenzhen Launch Co., Ltd was established in 2004, located
at Nanshan District, Shenzhen, and one hour by car from
Hongkong International Airport. Our main products are
high-grade building materials including stainless steel
balustrade post, staircase handrail, balcony guardrail,
swimming pool fence and other high-grade building
materials. All the products are designed strictly according to
the high-end market requirements, We have our own
factory in Tangxia Town, Dongguan,with more than 50 sets
of various precision equipments , such as CNC lathe, milling
machine, punching machine, pipe cutter, argon welder,
drilling machine, polisher, etc. which can provide customers
with complete product processing services.

CTeKnsHHaA CTOMKA U3 Hep)XaBelowen CTasu HOBOro ausanHa 38 Mm pgnsa

CTEKJIAHHbIX nepun



CTekNsiHHas CTOMKa U3 Hep)XaBelolen CTan HOBOro AusaiHa 38 Mmm

ToeapUms AN CTEKNAHHBIX Nepun

FinishM 6ecnopsgok/aTnac/4epHnUTbLBET

ObGblyanusmepeHue MimeeTcs B Hanu4ymm.MbliHaxoasTcadabpuka.

OpenbcTteknopbipa OunameTtpldmm

nenaraeM n opyrne KOHCTPYKLNN CTEKJIAHHbIX CTOEK, BO3MO)XHbI
unHOnBNAyaJZibHbieé pa3Mepbl non nobou Tun.

OnTtoBas Bce TUNblI 6OKOBbIX KPYrinbiX CTEKJIAHHbBIX CTOEK




SF-50A SF-50

SF-38 SF-38Z SF-30

CTaHAapTHble pa3Mepbl:




Part No. Material Finish Body Bolt size

= 30x10; 30x25mm
* SF-30 = 40x10; 40x30mm = M10x120 bolt
» SF-40 | =AISI304 = 3atin = 50x12; 50x30mm » M10x72 wood screw
» SF-50 = AISI316 =Mimor @ = 50x12; 50x50mm » Max100 bolt

= SF-50A = silicon rubber gasket = M8 x72 wood screw

included

|

Parl No. Material Finish Body Boll size

* hollow type
. SF387 AlSI 304 = 3Satin = 38x7.5,38x38mm * M8x70 hexagonal

=AISI316 = Mirror = silicon rubber screw
gasket included

Part No. Material Finish Body Mounting plate size

L .
« AISI304 = Satin 50x10:50x30mm

= SF-50T : = silicon rubber = 200x100x10mm
= AISI 316 L le gﬂ-skﬁt included

HYepHUTbLBETCTEKONPOTUBOCTOAHNE



N ®
KEBILF} L5

g

\\'mw!iinulrlu” DL ',uli I







O O

®dotorpagun npoekrta Glass Standoff






KoHTaKT

Cnacunbo 3a nocetleHune!

Jllobble 3anpochl v BONPOCHI, NOXXaNyncTa, 0OCTaBbTe coobLieHne. Mbl CBSXKEMCS C BaMy B TedeHune 24
4yacos.

-KoHTakT: BeHaun_salesO04@launch-china.cn

-Mob / kakoe npunoxeHue: +8615989339827



mailto:Wendysales04@launch-china.cn

